

## TOWN OF HARRISON POLICE DEPARTMENT

650 North Street
Harrison, New York 10528
Phone: (914) 813-7542 ~ Fax: (914) 813-7428
Email: jv102@harrisonpdny.gov



V-E-2

May 12, 2022

Supervisor/Mayor Richard Dionisio and Members of the Village Board Town/Village of Harrison 1 Heineman Place Harrison, New York 10528

Re: Request to Purchase (2) Surveillance Camera and Hardware Kits

Supervisor/Mayor Dionisio and Members of the Village Board:

Approval is requested for the purchase of two (2) Surveillance Camera and Hardware Kits for the LPR Video Lane from Digital Surveillance Solutions in the amount of \$27,373.50. Purchase will be made through NYS Contract#PT68787. Funding is available in Capital Account#15P014.

Authorization is also requested for the Purchasing Department to issue a purchase order.

Respectfully submitted,

CHIEF John 7. Vasta
John T. Vasta
Chief of Police

EXTENDED BY:

CHECKED BY:

PRICED BY:

	_	
TO: DIGITAL SURVEILANCE SOLUTIONS  DELIVERTO: HARNISON POLICE DEPT. ATTN: HUGO  CHARGETO JOB NO. DOCT CONTROL # 15 DOWN (FOUND)	DATE: 5//	2/2022
HARRISON POLICE DEPT. ATTN: HUGO	RUBIO	)
CHARGETO JOB NO. ACC * CAPITAL * 15 PO14 (TOWN WIDE S	INVETICE	(ANCE)
QUANTITY SHOPKEEPER: PLEASE SUPPLY	PRICE	AMOUNT
1		
2 CAMERA HARDWARE FOR LPR/VIDEO		
2 CAMERA HARDWARE FOR LPR / VIDEO 3 LANES ON STATE CONTRACT.		
4		
5 SEE ATTACHED QUOTE	1	,
FLEASE EMAIL COPY OF PO. TO: CARP TESSICAP @ dSSVIDEO. COM	John 7. Va	Ch
TESSICAP @ dSS VIDEO. COM	/	
BMIS@HARKESONPDNY-GOV	B	

SIGNED:



## (2) 2-Lane LPR request

Prepared For:
Det Derka Abbate
Harrison PD
650 North St
Harrison, NY 10528
United States
DA121@harrisonpdny.gov

## Prepared By:

Jessica Pitarresi
Digital Surveillance Solutions, Inc.
485 Cayuga Road
Buffalo, NY 14225
jessicap@dssvideo.com
716-597-0369

Quote #		Sales Rep		State Cont	ract
DSSQ4349		Jessica Pitarresi	PT68787		7
Item Number		Description	QTY	Unit Price	Total Price
Camera Hardware for	LPR Lanes				
Mx-M73A-RJ45	Mobotix	M73 Body with RJ45 Connector Box (white)	4	\$1,067.40	\$4,269.60
Mx-O-M7SA-8D280	Mobotix	15° 4K Day Sensor Module TELE	4	\$306.00	\$1,224.00
Mx-O-M7SA-8L280	Mobotix	15° 4K LPF Sensor Module TELE	4	\$398.70	\$1,594.80
Mx-M-PM-M73	Mobotix	Pole mount for M73 models	4	\$110.70	\$442.80
MX-OPT-CBL-LAN-10	Mobotix	Ethernet Patch Cable, 10 m	4	\$45.00	\$180.00
Mx-Overvoltage-Protectio n-Box-L	Mobotix	Mobotix Network Connector with Surge Protection, LSA Version	8	\$62.10	\$496.80
Mx-F-IRA-T	Mobotix	M73 IR Light Module for Tele Lens (15° - 30°)	4	\$184.50	\$738.00
Camera for Overview	of Scene				
Mx-S74A	Mobotix	S74 Body for 4 Sensor- and Functional Modules	2	\$789.30	\$1,578.60
Mx-F-S7A-RJ45	Mobotix	S74 Network slide in board with RJ45 socket	2	\$110.70	\$221.40
Mx-O-M7SA-8D080	Mobotix	60° 4K Day Sensor Module WIDE	2	\$306.00	\$612.00
Mx-O-M7SA-8N080	Mobotix	60° 4K Night Sensor Module WIDE	2	\$306.00	\$612.00
/lx-A-S7A-CBL02	Mobotix	Sensor Cable 2m for S7x straight-straight	4	\$54.90	\$219.60
Mx-M-PTMA	Mobotix	PTMount S7x, white	4	\$73.80	\$295.20

Item Number		Description	QTY	Unit Price	Total Price
Rack and Compone	ents				
SOD-192420	DDB Unlimited	Racking Small Box 21"H x 24"W x 24"D (9 RU)	2	\$1,047.59	\$2,095.18
F-25-115T	DDB Unlimited	DDB-Unlimited 110V Dual Fan Kit w/ adju thermostat	2	\$163.24	\$326.48
ZZ-4SQUARE-P	DDB Unlimited	DDB-Unlimited Populated 4 Square Outlet 110/20A *Install, MRP*	2	\$61.44	\$122.88
CF4-24-C	DDB Unlimited	DDB-Unlimited Set of 4" C-Channel Bracket (2 per set) used on SOD Model Enclosures Painted Cream	2	\$284.16	\$568.32
PD-2015R-NS	Middle Atlantic	20 OUT,15A,MULTIMNT,CORD	2	\$174.60	\$349.20
C501100004	Belden	PATCHCORD BCAT5E CMR BLK 4FT	24	\$6.17	\$148.08
Network Connectivit	ty				
JSW-16-POE	Ubiquiti	UniFi 16Port Gigabit Switch with PoE and SFP	2	\$298.85	\$597.70
JSG-PRO-4	Ubiquiti	UniFi Security Gateway, PRO, 4-Port	2	\$343.83	\$687.66
JISP-CABLE-PRO	Ubiquiti	1,000 ft (305 m) Category 5e cable. 24 AWG solid copper conductor pairings Insulated, weatherproof cable jacket Internal foil shielding and drain wire for increased ESD damage protection.	1	\$134.92	\$134.92

Item Number		Description	QTY	Unit Price	Total Price
Item Not on State C	ontract				
8600459076	Synnex	SUPERMICRO COMPUTER: 8600459076 SYS-5019C-FL - X11SCL-IF, CSE-505-203B, HF,RoHS/REACH (1) CPU - CFL-S E-2286G 1P 6C/12T 4G 12M 95W P630 H4 1151 U0 (1) MEM -16GB DDR4-2666Mhz 2Rx8 ECC UDIMM,HF,RoHS (1) SSD - Intel D3-S4510 240GB SATA 6Gb/s 3D TLC 2.5" 7mm <2DWPD Rev.2 (1) SSD - Micron 5300 PRO 7.68TB,SATA,2.5",3D TLC,0.6DWPD (2) SFT OOB LICENSE -Out of Band Firmware Management License-BIOS Flash /Setting (1) ASSEMBLY (1)	2	\$4,929.14	\$9,858.28

SUBTOTAL	\$27,373.50	
SALES TAX	\$0.00	
Optional Item Total	\$0.00	
TOTAL	\$27,373.5	

Taxes, shipping, handling and other fees may apply. We reserve the right to cancel orders arising from pricing or other errors.

To accept this proposal, sign here and return: \_

CHIEF John 7. Vasta
Signature

Date

5-12-2022